
















Find the option which should replace (?)
10 + 7 = 12

25 +  3  = 25

27 + 8  =

(A) 21

(B) 30 

(C) 39 
(D) 26





Q.: Two positions of dice are shown. What will appear on the 
opposite to the face containing 5? पासा की दो स्थितियाां तदखाई गई

है िो ज्ञाि कीतिएकी 5 के तिपरीि सिह परक्या होगा?
(A) 3 (B) 2
(C) 1 (D) 4
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Q.: Two positions of dice are shown. What will appear on the 
opposite to the face containing 3? पासा की दो स्थितियाां तदखाई गई

है िो ज्ञाि कीतिएकी 3 के तिपरीि सिह परक्या होगा?
(A) 3 (B) 2
(C) 1 (D) 4
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Q.: Two positions of dice are shown. What will appear on the 
opposite to the face containing     ? पासा की दो स्थितियाां तदखाई

गई है िो ज्ञाि कीतिएकी * के तिपरीि सिह परक्या होगा?    

(A) @ (B) %
(C) $ (D) CND
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Q.: Two positions of dice are shown using A to F letters. What 
will appear on the opposite to the face containing B? पासा की

दो स्थितियाां A से F िक तदखाई गई है िो ज्ञाि कीतिएकी B के तिपरीि

सिह परक्या होगा? 
(A) F (B) C
(C) E (D) CND
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Q.: Two positions of dice are shown. What will appear on the 
opposite to the face containing Brown? पासा की दो स्थितियाां

तदखाई गई है िो ज्ञाि कीतिएकी ‘BROWN’ के तिपरीि सिह परक्या होगा? 
(A) Blue  (B) White
(C) Red (D) Green
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Q.: Two positions of dice are shown. What will appear on the 
opposite to the face containing 4? पासा की दो स्थितियाां तदखाई गई

है िो ज्ञाि कीतिएकी 4 के तिपरीि सिह परक्या होगा?
(A) 3 (B) 2
(C) 1 (D) 5
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Q.: Three positions of dice are shown. What will appear on the 
opposite to the face containing 2? पासा की िीन स्थितियाां तदखाई

गई है िो ज्ञाि कीतिएकी 2 के तिपरीि सिह परक्या होगा? 
(A) 3 (B) 5
(C) 1 (D) 6
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Q.: Three positions of dice are shown. What will appear on the 
opposite to the face containing O? पासा की िीन स्थितियाां तदखाई

गई है िो ज्ञाि कीतिएकी ‘O’ के तिपरीि सिह परक्या होगा?
(A) # (B) +
(C) % (D) &
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Q.: Three positions of dice are shown. What will appear on 
the opposite to the face containing A? पासा की िीन स्थितियाां

तदखाई गई है िो ज्ञाि कीतिएकी A के तिपरीि सिह परक्या होगा? 
(A) C (B) D
(C) E (D) B
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Q.: Four positions of dice are shown. What will appear on the 
opposite to the face containing O? पासा की चार स्थितियाां तदखाई

गई है िो ज्ञाि कीतिएकी ‘O’ के तिपरीि सिह परक्या होगा?
(A) * (B) $
(C) @ (D) +

++

@ *

*

@

_ $
C*

O +

$



Q.14: From the four positions of a dice given below, find the 
colour which is opposite to Violet ? : पासा की चार स्थितियाां तदखाई

गई है िो ज्ञाि कीतिएकी बैंगनी के तिपरीि सिह परक्या होगा? 
(A) Red (B) Yellow
(C) Blue (D) White
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